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Introduction
In this TP to TS 38.141-1 a section for the consideration of the active antennas for the BS type 1-C is proposed. Content is based on TS 36.141.  
Conclusions
Based on the above introduction, the following proposal is formulated:
[bookmark: _GoBack]Proposal 1:  approve the attached TP to TS 38.141-1. 


TP to TS 38.141-1
------------------------------ Modified section ------------------------------
[bookmark: _Toc510689647]4.5.1.6	BS using antenna arrays
BS type 1-C may be configured with a multiple antenna connectors for some or all of its transceivers or with an antenna array related to one cell (not one array per transceiver). This subclause applies to a BS which meets at least one of the following conditions:
-	The transmitter output signals from one or more transceiver appear at more than one antenna connector; or
-	There is more than one receiver antenna connector for a transceiver or per cell and an input signal is required at more than one antenna connector for the correct operation of the receiver thus the outputs from the transmitters as well as the inputs to the receivers are directly connected to several antennas (known as "aircombining"); or
-	Transmitters and receivers are connected via duplexers to more than one antenna.
In case of diversity or spatial multiplexing, multiple antennas are not considered as an antenna array.
If a BS type 1-C is used, in normal operation, in conjunction with an antenna system which contains filters or active elements which are necessary to meet the NR requirements, the conformance tests may be performed on a system comprising the BS together with these elements, supplied separately for the purposes of testing. In this case, it must be demonstrated that the performance of the configuration under test is representative of the system in normal operation, and the conformance assessment is only applicable when the BS is used with the antenna system.
For conformance testing of such a BS, the following procedure may be used.
[bookmark: _Toc510689648]4.5.1.6.1	Receiver tests
For each test, the test signals applied to the receiver antenna connectors shall be such that the sum of the powers of the signals applied equals the power of the test signal(s) specified in the test. An example of a suitable test configuration is shown in figure 4.5.1.6.1-1.


Figure 4.5.1.6.1-1: Receiver test set-up
For spurious emissions from the receiver antenna connector, the test may be performed separately for each receiver antenna connector.
[bookmark: _Toc510689649]4.5.1.6.2	Transmitter tests
For each test, the test signals applied to the transmitter antenna connectors (Pi) shall be such that the sum of the powers of the signals applied equals the power of the test signal(s) (Ps) specified in the test. This may be assessed by separately measuring the signals emitted by each antenna connector and summing the results, or by combining the signals and performing a single measurement. The characteristics (e.g. amplitude and phase) of the combining network should be such that the power of the combined signal is maximised. An example of a suitable test configuration is shown in figure 4.5.1.6.2-1.


Figure 4.5.1.6.2-1: Transmitter test set-up
For intermodulation attenuation, the test may be performed separately for each transmitter antenna connector.
------------------------------ End of modified section ------------------------------
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